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QUESTION NO: 1

S5000T after system startup or insert system disk (or management module) 10 minutes to
determine the system is fully booted normally, in order to carry out the upgrade.

A. True
B. False

Answer: A

QUESTION NO: 2

Argument about disaster recovery and data backup correct yes:
A. Disaster recovery is data backup.

B. Disaster recovery is a method of data backup.

C. Data backup is the foundation of disaster recovery.
D. The above statement is not correct.

Answer: C

QUESTION NO: 3
S5500T system is configured with a RAID group, RAID groups may be the reason for the

downgrade: (Choose three)

A. RAID disk group members pulled out

B. RAID disk group members were replaced by other types of hard disk

C. RAID disk bad sectors group members or other failure causes failure to read and write
D. RAID group members is set to hot spare disk

Answer: A,B,C

QUESTION NO: 4
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Uninstall software under Linux which of the following commands can be used?

A. kill

B. uninstall
C. unload
D. rpm-e

Answer: D

QUESTION NO: 5

When you create a LUN cannot modify the general parameters which can only be modified when
creating, created after: (Choose two)

A. Name of the LUN

B. Slitting depth of the LUN
C. LUN ownership Controller
D. Capacity

Answer: B,D

QUESTION NO: 6

A full, normal RAIDS5, including real data and parity data on the disk of its members:

A. True
B. False

Answer: A

QUESTION NO: 7

Storage system configuration process to create LUN then create RAID

A. True

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.
https://www.Pass4itSure.com



[ Instant Download O PDF And VCE [0 100% Passing Guarantee [1 100% Money Back Guarantee

B. False

Answer: B

QUESTION NO: 8

Huawei SAN storage products have replaceable parts: (Choose three)

A. Hard disk

B. Controller

C. Power supply fan
D. CPU

Answer: A,B,C

QUESTION NO: 9

RAID1 data redundancy is achieved through what technology?

A. OX

B. Hamming code check
C. P + Q double check
D. Mirror

Answer: D

QUESTION NO: 10

Need at least a few hard drives when you create RAID10
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Answer: D

QUESTION NO: 11

In business given the large number of random data access, data security while demanding scene
for what raid level to use?

A. RAIDO
B. RAID1
C. RAID3
D. RAID10

Answer: D

QUESTION NO: 12

RAIDO often called bands, RAIDO allowed to damage a member of the hard drive data is not lost.

A. True
B. False

Answer: B

QUESTION NO: 13

Windows "Disk Management" requires that all dynamic disks and GUID partition table (GPT) are
using the NTFS file system on the disk.

A. True
B. False

Answer: A
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QUESTION NO: 14

S5600T and S6800T when the system power loss by the built- safe dish BBU to power, to ensure
that the data written to the Cache dirty safe dish without losing.

A. True
B. False

Answer: B

QUESTION NO: 15

The only two hard disk storage devices, you can choose to create a RAID levels are () (Choose
two)

A. RAID3
B. RAIDO
C. RAID1
D. RAID6

Answer: B,C

QUESTION NO: 16

Huawei package maintenance tool storage products acquisition mode

A. Local Service Manager
B. 400 Response Center
C. Huawei support website.
D. Dealer

Answer: C
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QUESTION NO: 17

Application for the license file storage system mail must include the following items which
(Choose two)

A. Contract Number

B. Control box serial number
C. Customer Name

D. LAC code

Answer: B,D

QUESTION NO: 18

Host port type S2600 series storage arrays provide not include ()

A. SAS
B.FC
C.iSCSI
D. SATA

Answer: D

QUESTION NO: 19

S5000T storage array in the configuration export function to export the system configuration file
format ()

.DAT
EXE
TIXT
.DOC

CSow>

Answer: A

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.
https://www.Pass4itSure.com



[ Instant Download O PDF And VCE [0 100% Passing Guarantee [1 100% Money Back Guarantee

QUESTION NO: 20

According SHARE 78 international organizations, disaster recovery system is divided into the
number of class
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Answer: C

QUESTION NO: 21

Same size, the number of hard drives configured in a RAID group, small random I / O write
performance is relatively poor Which RAID?

A.RAID 1
B. RAID 3
C.RAID O
D. RAID 5

Answer: B

QUESTION NO: 22

About BBU battery, the following statement is wrong

A. BBU battery to ensure the external power supply is interrupted cache data will be saved to a
specific location

B. BBU will automatically be charged and discharged regularly,if you see a regular alarm
information BBU discharge is normal

C. The BBU inside the controller S2600,S5000's BBU external controller

D. S5000T product no BBU Module

Answer: D

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.
https://www.Pass4itSure.com



[ Instant Download O PDF And VCE [0 100% Passing Guarantee [1 100% Money Back Guarantee

QUESTION NO: 23

G type fabric switch port is a universal port, depending on the implementation, as F port or E port.

A. True
B. False

Answer: A

QUESTION NO: 24

Which of the following are ISCSI protocol advantages in practical applications? (Choose three)

A. Powerful

B. Long distance transmission
C. Safe

D. Low Cost

Answer: A,B,D

QUESTION NO: 25

Common storage devices include? (Choose three)

A. Minicomputer

B. Library

C. Virtual Tape Library
D. Disk Arrays

Answer: B,C,D

QUESTION NO: 26
SAN storage products for the upgrade, the following statement is wrong
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A. Next in the array LUN is formatted,the systemcannotbe upgraded

B. When the system has a hard drive in a dormant state,the systemcannotbe upgraded

C. When using ISM upgrade,it is recommended to maintain the terminal and two controllers can
manage network ports are connected

D. When you upgrade the controller software upgrade package file extension.Bin

Answer: D

QUESTION NO: 27

RAID technology for efficient data organization and data security is primarily the means through
which to achieve? (Choose three)

A. Data striping

B. Sequential read and write data between the members of the panel
C. Verification mechanism

D. Hot standby mechanism

Answer: A,C,D

QUESTION NO: 28

When configuring iISCSI attached storage devices on the application server, application server
called the target device, a storage device called the Launcher.

A. True
B. False

Answer: B

QUESTION NO: 29

SATA argument about the correct yes:

A. ATA to SATA transition from serial to parallel shift.
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B. ATA to SATA transition from parallel to serial shift
C. SATA and ATA command set used in a completely different set of instructions.
D. The above statement is not correct.

Answer: B

QUESTION NO: 30

What NAS to meet the needs of users: (Choose three)
A. Unstructured data growth demands

B. Data sharing needs

C. FC networking support
D. Multi-protocol support requirements

Answer: A,B,D

QUESTION NO: 31

FC-SAN Direct Connect network, the connection between the host and storage via HBA card
advantage of this networking is simple, economical, easy to host shared storage resources.

A. True
B. False

Answer: B

QUESTION NO: 32

SAN storage systems, real-time monitoring disk status, the suspected faulty disk data migration to
hot spare disk is called:

A. Reconstruction
B. Reconstruction
C. Disk pre-copy
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D. Disk Sleep

Answer: C

QUESTION NO: 33

S2600 system, or do before creating RAID configuration before other initialization is required to
ensure that the two power modules are switched on, otherwise it cannot be the key configuration.

A. True
B. False

Answer: B

QUESTION NO: 34

Hard disk average seek time is usually the average access time, and average latency and.

A. True
B. False

Answer: B

QUESTION NO: 35

After installing UltraPath for Linux, UltraPath for Linux can be found in the User Guide which
catalog:

A. / opt/ UltraPath

B. / etc /init.d / UltraPath
C. / bin / UltraPath

D. / bin / UltraPath / doc

Answer: A
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QUESTION NO: 36

RAID1 usually called mirroring, half of the members could theoretically damage the hard disk, but
the data may not be lost.

A. True
B. False

Answer: A

QUESTION NO: 37

Principles SAN storage array cable laying which of the following is correct. (Choose three)
A. Cable laying shall facilitate maintenance and future expansion

B. Cables should be uniform smooth cornering

C. When installed in a cabinet,the fiber should be set into the bellows
D. If Chutes, ladders should be erected on top of the cabinet line

Answer: A,B,C

QUESTION NO: 38

You can view the initiator node name on the label under which the windows of the initiator
software interface

A. discovery

B. general

C. target

D. None of the above comments

Answer: B
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QUESTION NO: 39

When you create a batch LUN, the LUN is created out which parameters are the same: (Choose
three)

A. Name of the LUN

B. Slitting depth of the LUN
C. LUN ownership Controller
D. Write Policy

Answer: B,C,D

QUESTION NO: 40

The main hard drive interface types are there? (Choose three)

A.iSCSI
B. SATA
C. SAS
D.FC

Answer: B,C,D

QUESTION NO: 41

Have the ability to protect data redundancy RAID level is: (Choose three)

A. RAID6
B. RAID O
C. RAID 50
D. RAID1

Answer: A,C,D

QUESTION NO: 42
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Huawei is mapped to the common disk array storage space used by the host cell is called (),
which is based on logical space created on the RAID.

A. LUN (Logic Unit Number)

B. RAID (Redundant Array of Independent Disks)
C. Hard disk

D. Disk Arrays

Answer: A

QUESTION NO: 43

Failover feature multi-path refers to the main path when the fault automatically discharged or
repair the 1/ O path from the transmission path from the switch back to the main path.

A. True
B. False

Answer: B

QUESTION NO: 44
When you install the Windows operating system, multi-path software is generally due to a blue

screen:

A. Killing caused by antivirus software

B. Once the software is installed too many paths

C. When the installation is not super- user privileges by user
D. Windows operating system patch is not installed SP1/SP2

Answer: D

QUESTION NO: 45

In S5000T storage system, the same LUN simultaneously mapped to multiple hosts, this
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statement is correct.

A. True
B. False

Answer: A

QUESTION NO: 46
Application Server using iSCSI protocol to connect storage devices, which the adapter can be

used? (Choose three)

A. Ethernet cards
B. iSCSI-HBA card
C. TOE NIC

D. FC-HBA card

Answer: A,B,C

QUESTION NO: 47

SUSE Linux 10 how to see the FC HBA WWN information:
A. # Cat/ sys/ class / fc_host/ host * / port_name

B. # Cat/ proc / scsi/ fc_host / host * / port_name

C. # Cat/ dev/scsi/ fc_host/ host * / port_name
D. # Cat/ etc / init.d / fc_host / host * / port_name

Answer: A

QUESTION NO: 48

All regenerate user data and parity data RAID system failure occurred on the disk (regeneration)
process is called copyback, not all storage arrays (industry) are supported copyback.
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A. True
B. False

Answer: B

QUESTION NO: 49

Take a different backup strategies, the data recovery operation is simple

A. Full backup

B. Incremental Backup

C. Differential backup

D. None of the above comments

Answer: A

QUESTION NO: 50

FC-SAN and IP-SAN convergence which is mainly reflected in several aspects: (Choose three)

A. FC-SAN integration with IP-SAN protocols

B. Fusion FC-SAN and IP-SAN solutions

C. FC-SAN and IP-SAN convergence on the product
D. FC-SAN and IP-SAN convergence on components

Answer: A,B,C

QUESTION NO: 51

FC protocol systems, FC-2 layer defines the standard encoding and decoding.

A. True
B. False

Answer: B
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QUESTION NO: 52

S5000T products are not safe dish

A. True
B. False

Answer: B

QUESTION NO: 53

S2600 array initialization configuration wizard to configure an array of items including adding new

management user

A. True
B. False

Answer: B

QUESTION NO: 54

Belong to IP-SAN hardware components of the device are: (Choose three)

A. ISCSI storage devices
B. FC HBA card

C. Ethernet Switch

D. iISCSI HBA card

Answer: A,C,D

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.

https://www.Pass4itSure.com

18



[ Instant Download O PDF And VCE [0 100% Passing Guarantee [1 100% Money Back Guarantee

QUESTION NO: 55

Please SAN storage configuration process to determine which of the following is correct?
A. Creating RAID --- Creating LUN --- Creating a Host Group --- create a mapping host ---
B. Creating RAID --- Creating LUN --- host --- create a mapping to create a host group ---

C. Create a LUN --- Creating RAID --- Creating a Host Group --- create a mapping host ---
D. RAID --- create LUN --- build a mapping --- create a host group --- Create a Host

Answer: A

QUESTION NO: 56

If the S2600's A controller management port IP address is 192.168.128.101, IP address B
controller manages the port 192.168.128.102, the array controller has two iscsi each host port, if A
controlled 00 iscsi host port is 192.168.10.101, B controlled 00 iscsi host port is 192.168.11.101,
then A iscsi host port control 01 which of the following segments can (assuming the mask is 24)
(Choose two)

A.192.168.128.0
B.192.168.10.0
C.192.168.11.0
D. 192.168.12.0

Answer: C,.D

QUESTION NO: 57

S2600 can be turned off by the power switch on the array

A. True
B. False

Answer: B
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QUESTION NO: 58

VTL3500 device is a virtual tape library products, which through virtual simu-lation software
features a physical tape library tape drives, and tape manipulator slots so popular with the industry
can be compatible with the physical tape library for data transmission

A. True
B. False

Answer: A

QUESTION NO: 59

Wang conducting create RAID, he chose five FC hard disk, create a RAID5; then choose four
SATA hard drives to create a RAID10, finally he chose two SATA disk as a hot spare, the following
statement is correct: (Choose three)

A. Two years later, the system appears a SATA hard disk failure,the system can be restored
RAID10 hot standby redundancy

B. Two years later, the system appears an FC hard disk failure,the systemcannotrecover RAID5
hot standby redundancy,the disk needs to be replaced as soon as possible

C. RAID10 up to two hard disk failure,data may remain intact

D. This hot standby configuration scheme is the cheapest effective solution because cheap SATA
hard drive prices

Answer: A,B,C

QUESTION NO: 60

Start the application server installed software, application servers and storage devices via iSCSI
ports can PING each other, but to build an application server connected to the storage device is
unsuccessful, the possible reasons are. (Choose three)

A. Start the application server software firewall on port 3260 is not open

B. Connection exists between the storage device and the application server's network firewall,port
3260 is not open

C. Storage device is not configured correctly starter

D. Target storage device is not configured correctly
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Answer: AB,C

QUESTION NO: 61

S2600 array initialization configuration wizard to modify an array of configuration items include
iscsi host port IP address

A. True
B. False

Answer: A

QUESTION NO: 62

Multi-path software features: (Choose three)
A. failover capabilities

B. failback function

C. Load Balancing
D. Receive and transmit data packets iSCSI

Answer: A,B,C

QUESTION NO: 63

The maximum transmission distance of multimode fiber () m:

A. 300M
B. 400M
C. 500M
D. 600M

Answer: C
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QUESTION NO: 64

FC-SAN and IP-SAN typical networking are. (Choose three)

A. Direct Connect
B. Single exchange
C. Double exchange
D. Mesh

Answer: A,B,C

QUESTION NO: 65

Under the same external conditions and the number of hard disk specifications, performance is
relatively good Which RAID level?

A. RAIDO
B. RAID3
C. RAID5
D. RAID10

Answer: A

QUESTION NO: 66

Under common windows file system, including: (Choose two)
A. jfs

B. ntfs

C. fat32
D. ext3

Answer: B,C
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QUESTION NO: 67

N8000 clustered NAS storage system can achieve unified storage, while outside the service
provided does not include ().

A. NAS

B. FC SAN

C. IP SAN

D. Routing / Switching

Answer: D

QUESTION NO: 68

FC configuration when connected to the host and the array, host software must be installed and
configured initiator

A. True
B. False

Answer: B

QUESTION NO: 69

S5600T S2600 products are not safe dish using similar techniques for data protection.

A. True
B. False

Answer: A

QUESTION NO: 70

Windows have created a dynamic disk volumes can span multiple disks and create fault-tolerant
volumes ability volumes on dynamic disks can be a basic volume, it can be dynamic volumes.
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A. True
B. False

Answer: B

QUESTION NO: 71

What are the time to find a way to discover new devices ISM: (Choose three)
A. Specify an IP address

B. Specify IP addresses

C. The same subnet
D. Specify the mask

Answer: AB,C

QUESTION NO: 72

ISM sub navigation tree "device" entry included under (Choose two)

A. Host Group

B. Controller

C. Host computer
D. Hard disk

Answer: B,D

QUESTION NO: 73

S5600 control panel box must be safe FC hard disk or SSD hard disk (S5300 and S5500 control
box control boxes do not have this requirement), control box, hard disk drives and other types of
hard disk box for SATA hard drives or FC drives or SSD drives.

A. True
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B. False

Answer: A

QUESTION NO: 74

How many hard drives to create a complete RAID5 requires at least?

OO w2>»
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Answer: C

QUESTION NO: 75

SSDs Compared to traditional mechanical hard drives advantages excluding Which?

A. Higher IOPS

B. Larger capacity

C. Low noise

D. Less prone to mechanical wear

Answer: B

QUESTION NO: 76

Upgrade for S5000 need to upgrade SES, and then upgrade the controller software

A. True
B. False

Answer: A
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QUESTION NO: 77

In S5000T product features can be completed without interruption of business are. (Choose three)

A. Expand storage capacity

B. Hardware module upgrades
C. Online Upgrade

D. A copy of the full amount LUN

Answer: A,B,C

QUESTION NO: 78

Full range of products in accordance with the storage location and classification, which of the
following products do not belong to the network storage products? (Choose two)

A. S2600

B. CSS

C.INVS

D. S5000 S5000T

Answer: B,C

QUESTION NO: 79

After storing the file import license, you need to reboot the array

A. True
B. False

Answer: B
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QUESTION NO: 80

After the windows system scan to LUN storage resources, you first need to initialize the LUN
space operations.

A. True
B. False

Answer: A

QUESTION NO: 81

Network storage system includes morphological SAS, NAS, SAN.

A. True
B. False

Answer: B

QUESTION NO: 82

Fibre Channel protocol support topology what? (Choose three)

A. Point

B. Switched

C. Hybrid

D. Arbitrated loop

Answer: A,.B,D

QUESTION NO: 83

The following are journaled file system? (Choose three)

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.
https://www.Pass4itSure.com



[ Instant Download O PDF And VCE [0 100% Passing Guarantee [1 100% Money Back Guarantee

A. fat32
B. ntfs
C.jfs

D. xfs

Answer: B,C,D

QUESTION NO: 84

In S5000T, for example, the principle of fault diagnosis for storage devices: (Choose three)

A. First diagnosis of external factors,internal factors after diagnosis.
B. First diagnosis overall,partial diagnosis.

C. First analysis of high-level alarm,low level alarm after analysis.
D. First check service after checking storage

Answer: A,B,C

QUESTION NO: 85

S5000T redundant disk array control module includes box: (Choose three)

A. Backplane Modules
B. Controller Module

C. The battery module
D. Power - Fan Module

Answer: B,C,D

QUESTION NO: 86

Optical fiber cables, including: (Choose three)

A. Core
B. Cladding
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C. Shield
D. Cover

Answer: A,B,D

QUESTION NO: 87
iISCSI host adapter (HBA) is responsible for implementing iSCSI layer and the TCP / IP protocol

stack functionality

A. True
B. False

Answer: A

QUESTION NO: 88

About SUSE 10.0 under the open iSCSI service operation is correct: (Choose three)

A. rcopen-iscsi start

B. / etc/ init.d / open-iscsi stop
C. / etc / init.d / open-iscsi status
D./ etc/init.d / iscsi restart

Answer: AB,C

QUESTION NO: 89

In the same RAID group, allowing simultaneous failure of two members of the panel and still full
RAID -level data may have () (Choose three)

A. RAID1

B. RAID 6
C. RAID 5
D. RAIDO1
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Answer: A,B,D

QUESTION NO: 90

Master Boot Record (MBR) partition supports a maximum volume of 2 PB

A. True
B. False

Answer: B

QUESTION NO: 91

NAS server does not support the agreement are:
A. ftp

B.iSCSI

C. CIFS
D. NFS

Answer: B

QUESTION NO: 92

The role of multi- path software: (Choose three)
A. High Availability

B. Load Balancing

C. Active | / O path testing and automatic path to recovery
D. Improve reading array cache hit rate

Answer: A,B,C
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QUESTION NO: 93

Linux mount the file system under which command?

A. umount
B. mount
C. mout

D. unmount

Answer: B

QUESTION NO: 94

In the same S5000T storage system, you cannot set multiple hot spare

A. True
B. False

Answer: B

QUESTION NO: 95

The following hardware instead of using the FC protocol to communicate is:

A.iSCSI card
B. FC drives

C. FC switch

D. FC HBA card

Answer: A

QUESTION NO: 96
Which of the following operating systems are Linux system? (Choose three)
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A. WSS

B. SLES
C. RHEL
D. CentOS

Answer: B,C,D

QUESTION NO: 97

RAIDS5 disk utilization levels of RAID group (N: number of member disks):

A.N/(N-1)
B. 100%
C.(N-1)/N
D. 1/ (2N)

Answer: C

QUESTION NO: 98

SAN storage system power down operations require strict accordance with the instructions, the
power-up sequence is generally: hard disk storage box - storage control box - switch - server ;
under the power-up sequence is generally: Confirm hosting business stop - next server power -
switch power off - the control box under the power - the hard frame power ;

A. True
B. False

Answer: A

QUESTION NO: 99

If the S2600 is full with 12 hard drives, it is recommended to configure several RAID group

Al
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Answer: A

QUESTION NO: 100

The old version has been installed on the application server UltraPath for Windows; a new version
of UltraPath for Windows can perform an upgrade installation directly

A. True
B. False

Answer: B

QUESTION NO: 101

Direct Connect networking advantages S5000T description right there () (Choose two)

A. Network build low cost;

B. Proprietary data channel can ensure maximum throughput applications between servers and
storage devices

C. Not fully utilize the storage capacity of the device is connected
D. Multiple servers to share data on the disk array

Answer: A,B

QUESTION NO: 102
Which of the following documents are Open-iSCSI default configuration file:
A. [ etc/iscsi/ iscsid.conf

B. / etc / iscsi / initiatorname.iscsi
C. / etc/iscsi/ send_targets
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D. / etc / iscsi / nodes

Answer: A

QUESTION NO: 103
T3200/T3500 G2 does not support cascading, networking is very simple, two business

management network port and an Ethernet port to connect to the switch via the network cable.

A. True
B. False

Answer: A

QUESTION NO: 104

If the S2600's A controller management port IP address is 192.168.128.101, IP address B
controller manages the port 192.168.128.102, the array controller has two iscsi each host port, if A
controlled 00 iscsi host port is 192.168.10.101,01 iscsi host port A control is 192.168.11.101, B
controls 00 iscsi host port is 192.168.10.102, then01 iscsi host port B which of the following can be
controlled network segment (assuming the mask are 24) (Choose two)

A. 192.168.128.0
B. 192.168.10.0
C.192.168.11.0
D. 192.168.12.0

Answer: C,.D

QUESTION NO: 105

Cable types S5000T control box with a hard disk connected to the frame:

A. mini SAS cable
B. SAS cables
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C. AA -type serial cable
D. AB -type serial cable

Answer: A

QUESTION NO: 106

For E-mail or a DB, etc. and more important for reading and writing data to applications that
demand high speed, which of the following RAID levels can be recommended. (Choose three)

A. RAID 10
B. RAID 50
C.RAID 5
D.RAIDO

Answer: A,B,C

QUESTION NO: 107

In SAN storage system, the argument about safe dish, the right is

A. Because the disk storage system data safe,and therefore must not be used as the other
members of the group disk RAID

B. Safe diskcannotbe used as a hot spare disk

C. When safe disk RAID disk group members can only be made RAID10

D. Safe disk available capacity due to other types of disk capacity the same inconsistency,it is not
the same type of plate and other raid group consisting of

Answer: B

QUESTION NO: 108

Port on S2600 and back-end disk storage control box is connected to the frame (), which is 12Gb
SAS wide ports.
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A.FC

B. SAS EXP
C. SAS PRI
D. iSCSI

Answer: B

QUESTION NO: 109

The basic starting point of the storage network is separated from the storage server, allowing them
into a network storage device directly connected to the network.

A. True
B. False

Answer: A

QUESTION NO: 110

If the application server and storage connectivity there are multiple paths to be checked when you
install Microsoft iISCSI Initiator software "Microsoft MPIO Multipathing Support for iISCSI", then
install UltraPath for windows software

A. True
B. False

Answer: B

QUESTION NO: 111
About LUN mapping statement is wrong
A. A LUN can be mapped to a host group

B. If the LUN mappings to the host group, then the group under which the host can see the host
LUN mapping
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C. Different servers can be simultaneously read and write to the same LUN, without any risk

D. If the LUN has been mapped to a particular host,then this LUNcannotbe mapped to other hosts

or host groups

Answer: C

QUESTION NO: 112

FC-SAN component typically comprises: (Choose three)
A. Storage Device

B. Fabric Switches

C. iSCSI HBA card
D. Fiber optic cable

Answer: A,B,D

QUESTION NO: 113

SAS interface rate currently used by mainstream: (Choose two)

A. 2G
B. 3G
C. 4G
D. 6G

Answer: B,D

QUESTION NO: 114
About the S2600 storage array supports hard statement is correct?.
A. The same control box support intermixing SAS and SATA disk

B. Control box safe dish disk support mixed interpolation
C. Unified control box support intermixing SAS and FC drives
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D. If you want to create a RAID group,RAID disk support group under the same mixed
interpolation

Answer: A

QUESTION NO: 115
At the same specifications, the number of disks, disk space utilization is below 60% of the RAID

levels are () (Choose two)

A.RAID 5
B. RAID 50
C.RAID 1
D. RAID10

Answer: C,.D

QUESTION NO: 116
S5000T storage system management port IP address to modify the command in the command

line

A. chgip

B. chgipaddress
C. chgctrl

D. chgctrlip

Answer: D

QUESTION NO: 117

S2600T is a low-end storage products, S5000/S6800 is a high-end storage products,
S5000T/S6800T a new generation of high-end storage products.

A. True
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B. False

Answer: A

QUESTION NO: 118

Windows platform, the path when installing the software a lot, multi-path software LUN masked
ghost, in the "Device Manager" to see if the disk drive less due to the redundant connections
generated a

A. True
B. False

Answer: B

QUESTION NO: 119

UltraPath for Windows before installing the items you need to check what? (Choose three)

A. Check the operating system version and patch compatibility with UltraPath

B. Be sure to open HBA card comes with Failover and Failback Function

C. Check the Microsoft iISCSI Initiator installed a built-in multi- path driver

D. The old version is not installed on the application server to confirm UltraPath for Windows

Answer: A,C,D

QUESTION NO: 120

Upgrade for S2600 need to upgrade the controller software upgrade SES

A. True
B. False

Answer: B
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QUESTION NO: 121

About WWN: World Wide Name (WWN) is the only 128 addresses by the manufacturer embedded
in each port.

A. True
B. False

Answer: B

QUESTION NO: 122

When installing UltraPath for Linux, prompted "the system is not supported by UltraPath driver,
exit!!", Requires:

A. Check the server operating system type and version is supported by multi- path software
B. Check the HBA card driver is supported by multi-path software

C. Check whether the software is open-iSCSI multipathing software support

D. None of the above comments

Answer: A

QUESTION NO: 123

If the S2600's A controller management port IP address is 192.168.128.101, IP address B
controller manages the port 192.168.128.102, the array controller has two iscsi each host port, if A
controlled 00 iscsi host port is 192.168.10.101, Oliscsi host port A control is 192.168.11.101, then
B iscsi host port control 01 which of the following segments can (assuming the mask is 24)
(Choose three)

A.192.168.128.0
B.192.168.10.0
C.192.168.11.0
D. 192.168.12.0
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Answer: B,C,D

QUESTION NO: 124

A switching fabric switch port is connected to a fiber optic hub port, then see from this port fiber
switch type yes.

A. G-Port
B. E-Port
C. F-Port
D. FL-Port

Answer: D

QUESTION NO: 125

S2600 series storage arrays do not support port type ()

A. SAS host ports

B. SAS expander port
C. FC host ports

D. FC cascade port

Answer: D

QUESTION NO: 126

Import and export configuration information via the ISM, which operate under the entry of the
navigation tree

A. Configuration Assistant
B. System Configuration
C. Device Information

D. Mapping
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Answer: B

QUESTION NO: 127

When installed on Windows 2003 UltraPath for Windows, in Device Manager:

A. Successful installation displays "UltraPath Device Specific Module"
B. If the installation is successful, displays "Multi-Path Support”
C. Successful installation displays "Multi-Path Device Specific Module"
D. If the installation is successful, displays "UltraPath Support"

Answer: B

QUESTION NO: 128
FC protocol, FC-2 layer defines: (Choose two)
A. Coding Standards
B. Decoding standard

C. Flow Control
D. Frame Agreement

Answer: C,D

QUESTION NO: 129

Hard disk capacity is what factors determine the size of? (Choose three)

A. Number of heads
B. Sectors

C. Number of tracks

D. Number of cylinders

Answer: A,B,D
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